PUMPS » PARTS » PASSION

MODEL: NO5 Non-Metallic

Assembly, Installation and Operation Manual
QUALI-LO
LU o e

R i o

www jdaglobal.com

I.— A - a '1I

DL



Explanation of Pump Nomenclature

YourModel# N

Pump Pump Check Design Wetted |Diaphragm/
Brand Size Valve Level Material | CheckValves

Check Valve
Seat

Non-Wetted
Material

Porting
Options

Pump Pump Kit
Style Options | Options

Model #: N XX X X X X

Pump Brand
N

Pump Size
05 1/2"

Check Valve Type
B Soilid Ball

Design Level
2 Design Level

Wetted Material

P Polypropylene

Diaphragm/Check Valve Materials
Santoprene/Santoprene

Virgin PTFE/Santoprene Backup/Virgin PTFE
Nitrile/Nitrile

Polyurethane/Polyurethane

One-Piece Bonded/PTFE

NCTmDd -~

Check Valve Seat
S Stainless Steel T  Virgin PTFE

Non-Wetted Material Options
P  Polypropylene

X

X

X

X X XX




Performance

NO5 NON-METALLIC

SUC'HOND'SCHARGE PORT S|ZE L Perft}rr:nance bfaster::l on tr;e folllowigg: e:;st;r::; fittel.d pumdpt ﬂOOdedySUCtiin: m(/jate.r ?Q ampient conditfit;r;/s,
' ' < %) i€ use of other materials and varyin raulic conditions may resuit Iin deviations In excess Ol 0.
<12 NPT(|ntema|)OI’ 1/2" BSP (Tamm) m o 265 SCFM (M3'hr)
* 1" NPT (Extemal)or 1" BSP (Tapered) 7 100 =1 .
700 |
90 —— &/ 6-(10
CAPACITY 6k P e a5
+0to 14 gallons per minute 80 S~ w0
(0to52 liters per minute) 5 %h ~" 2o =
70 -4
= 8oy~ \ 4 14 (24) %
AIR DISTRIBUTION VALVE 60 T — k_“-»,h &
+ No-ube, no-stall design T R e ] 6o
ﬁ 50 = Bar) ™~ = \""n.“ ; “"‘*L_\ 2
W N RN o
SOLIDSHANDLING 3t 40 s N N N T
« Upto .125 in. (3mm) 4 ps,\l\ ~f T = =
2| 30 R7Zoa~ ~ mﬁ“:‘:}“ 30 79.1
= — N L
HEADS UPTO " ~ N 20 2°
. = ~ LY
ot v IR =N
ir Inlet pra...~—— —— 3
_‘__ "e‘ssure \\\ \\ \“"-R_ - 5 |15
DISPLACEMENT/STROKE 0" 0y 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16
« 026 Gallon/ .098 liter U.S. Gallons per minute
I I i L] i I i I ¥ I " 1
0 10 20 30 40 50 60
SHIPPING WEIGHT Liters per minute
* Polypropylene 161bs. CAPACITY
(8kg)
Materials
Material Proﬁle' Polypropylene: A thermoplastic polymer. Moderate tensie 180°F 32°F
- andflex strength. Resists stong acids and alkali. Attacked by 82°C 0°C
A CAUTION! Operating temperature limitations are as follows: chlorine,fuming nitric acid and other strong oxidizing agents.

" . . . PVDF: (Polyvinylidene Fluoride) A durable fluoroplastic with 250°F 0°F
Conductive Acetal: Tough,impact resistant, ductie. Good 190°F '2O:F excellent chemical resistance. Excellent for UV applications. 121Cc | -18C
abrasion resistance and low friction surface. Generally inert, with |  88°C -29°C High tensile strength and impact resistance.
good chemical resistance except for strong acids and oxidizing — - -
agents. Santoprene®: Injection molded thermoplastic eIastomeryerw 275°F -40°F

- - no fabric layer. Long mechanical flex life. Excellent abrasion 135C -40°C
EPDM: Shows very good water and chemical resistance. Has 280°F | -40°F resistance.
istance to oils and solvents, but is fair in ketones and 138°C | -40°C

e starin UHMW PE: Athermopiasticthatis highly resistenttoa broad. | 180°F | -35°F

- - ~ range of chemicals. Exhibits outstanding abrasion and impact 82°C -37°C
FKM: (Fluorocarbon) Shows good resistance to a wide range 350°F ~“40°F resistance, along with environmental stress-cracking resistance.
of ails and sovents; especially all aliphatic, aromatic and 177°C -40°C - -
halogenated hydrocarbons, acids, animal and vegetable ois. Urethane: Shows good resistance to abrasives. Has poor 150°F 32°°F
Hotwater or hot aqueous solutions (over 70°F) will attack FKM. resistance fo most solvents and oils. 66°C 0°C
Hytrel®: Good on acids, bases, amines and glycols at room 220°F | -20°F Virgin PTFE: (PFA/TFE) Chemically inert, virtuallyimpervious. | 220°F | -35°F
temperatures only. 14°C | -29°C Very few chemicals are known to chemically reactwith PTFE; 104°C 37°C

- - molten alkali metals, turbulent liquid or gaseous fluorine and
Neoprene: All purpose. Resistance to vegetable oils. Generally | 200°F | -10°F afewfluoro-chemicals such as chiorine trifluoride or oxygen
not affected by moderate chemicals, fafs, greases and many 9C | -23°C difiuoride which readily liberate free fluorine at elevated
oils and solvents. Generally attacked by strong oxidizing acids, _ temperatures.
I;etones;t()aoiers andnitro hydrocarbons and chiorinated aromatic Maximum and Minimum Temperatures are the limits for which these materials can be operated.
ydrocarbons. Temperatures coupled with pressure affect the longevity of diaphragm pump components.

Nitrile: General purpose, oiresistant. Shows good solvent, oil, 190°F -10°F Maximum life should not be expected at the extreme limits of the temperature ranges.
highly polar solvents like acetone and MEK;, ozone, chlorinated
hydrocarbons and nitro hydrocarbons.
Nylon: 6/6 High strength and toughness over a wide 180°F | 32°F Stainless Steel: Equal to or exceeding ASTM spedification A743 CF-8Mfor corrosion
temperature range. Moderate to good resistance to fuels, oils 82°C 0°C resistant iron chromium, iron chromium nickel and nickel based alloy castings for
and chemicals. general applicaitons. Commonly refemed to as 316 Stainless Steel in the pump industry.

For specific applications, always consult the Chemical Resistance Chart.




NO5 Non-Metallic Center Ported Options

Dimensions in inches (metric dimensions in brackets). Dimensional Tolerance .125" (3mm).

DISCHARGE PORT
102 FNPT {INTERNAL)
1% MWPT [EXTERNAL)

I — 1(]_1][25”

STAMDARD INTEGRAL MuFF:.ER\
w58 [167]

a3 36[3)

==

1 [a) i -

L=

Standal
&h'lh:'ug;gli (Campering Muffer 1

A | Tapen | sz |

1154 |23

- - ]

SUCTION PORT
W2 FNPT{INTERNAL)
1 MNPT EXTERNAL)

Wesh & Sound GENERAL NOTES

OPTIONAL SUCTION & DISCHARGE PORTS AVAILALBE IN 1° B3P
{INTER NAL) AND 1" BSP (EXTERNAL)

STANDARD INTEGRAL MUFF LER (3! COVERS 38" FNPT EXHAUST
PORT FOR OPTIONAL MUFFLER STYLES OR PIPING EXHALUST AIRIN
SUBMERGED APPLICATIONS

am [7a]

1.78[se]

/-MNIFOLDCM ROTATE #80°
FROM VERTICAL CENTERLINE

-

:

1.3 [35]

AR IMLET
14 FPT

arafaen]

5.45[130]

1.7 [44]

HLIME N e

e

a2



Principle of Pump Operation

Hir-0paraiad Doubla Diapbragm (AQDHD) pumps ae powesd
by compressad ar or nifrogan.

The main direciional {&r) contral valve T disiribubes
comprassad ar io an ar chamber, exaring unifom pressume
ower fhe imersurface of fha diaphmgm (Z). Al the same ma,
fhe axhausing ar (3 fram behind the apposie daphragm

i= diraciad fimugh fhe ar valve assambly(s) toan axhausd
part &)

#s nner chamber pressuse (P) exceads iquid chamber
przur (P2), ha rod 5 connecled diaghmgms shif
fogather raafing disdharge on ane side and suchon on fha
apposie side. Tha discharged and primad liquid s dracians
are contmlad by the chack valhes (hall ar lap)E) ariantafion.

The pump primes as 3 msuli of e suchon sirge. The
suction siroke kowears the chamber prassura (P3) inaraasing
fhe chambar vadume. This msulis in a pressume difiesnid
nacessary for smaospharnic prassure (P4} fo push the fuid
fhmugh fhe suction piping and acroes fhe sucion Sde chack
valve and inio e ouler fiuld chamber (7.

Suchon fside) stmking ako infiales fe redprocaing
{=hifing, siroking ar cyding) achon of fhe pump. The sucion
daphvagm’s movamani is mechanicaly pullad frough is
sindka. The diaghmgm'’s nnar plefe makes confiact with an
aduatar plunger aligned o shift fhe plot signaling valwe.
Onca aduaied, fhe pliot walve sands a pressure signaliofhe
oppasiie end of fhe main diecional ar vava, redirecting fie
compraszsad ar ko the apposie innar chamber

SUBMERGED ILLUSTRATION

MUFFLER
_ﬁ_’_.ﬂ".rl‘_ﬁ.l'\_ﬁ—f'
1" DUMMETER AR
Lacin EXHALET PIPMG
LEVEL
SUCTION
LINE

Pumpcanbe ubmemged ¥ e pump malends of cosimcion
ara campaiible with fhe bquid baing pumped. The air eshausi
must be pipad above fhe liquid Eval When fhe pumped product
=murcais at a highar levd fhan fhe pump floodad sudion
mndiion), pipe e exhausi highar fhan e product soure io

pravent siphaning spills.

DL



Recommended Installation Guide

A
o TT
=04 o Sange Suppressor
P
N e, Dbk 2 e, Vahe
musl be al afes
he fiexibie comediow. Fipe Connecion
Style Opson)
Flexitie cumedur—\ ' [—= Discharge
ek
g Vake
Drain Part Vahe "
{Optonal Piped Exhaus)
= - ! Alr Inket
Gauge Filler Reguisior
— lexitie
— Conneclion Dryer
Suctinn ——- Lubricator
co—oI—o
Shut-Off Vale The air exhaurst should
Conneciion ba pipad fo an area
Drain Part le Optional) for safe disposition

of the prodie! balng
jpumped, in e svenlaf

& disphragm failure.

batd dtion And Statlip
Loceie the pump 3 dkame o the produd hang pumped a5 poasble. Keeap the axcse Ine langh and numbar of Sings kv 3 minmmum. Do nol reduca the sucan lne
damda

Air Supply
Camad Ihe pmp axinked iz an ar ayply with afloenl capadly and pre=sane o achieve dessed parkamance. A prassare raguiaing valve shaukd be insisled o
mare ar zupply presare doas nal esceed recormmandad lmils.

Air Yaive Lubwice o

The ar dstihuban systen is despned i apardle WTHOUT ubriceéan. This 5 the slandard mode of opardlion. If bbwealon &5 desinad, isiell an airline wicaor
ad inddiver ane dngp of SAE 10 nan-ddiegani al forevary X1 SCAM (94 Bars/sec } of air the pump caeames. Camull the Peroam ance Curve o ddiammine ai
canzumplan.

Air Line Moahse

YW a in he conprmed 8 suply may causa idng o feazing of the exhausl i, casay he puny kb cydh ardcly o skp qparaing. Weler in the ar ayply @n
be mduced by using a pant-afusa ar dryer

Air indet And Priming

Taslad tha pump, slightly open bhe air shuloff \aiva. Aes the pump primes, tha ar valve can be opaned Ibinaease ar fowas dasiad. F aqpeaning e vilve

ovexes cydig raie, hul doas nal naeasa lhe 2ie of Sow, covilaian has ocaswd. The veive shaukl ba dased slighily in ahian the most aféaenl air Sowla pump
Sor raa.

HUMER & FPARTS & FAREIDHN



Composite Repair Parts Drawing

Torque:
70in/lbs

Torque:
50 in/lbs

70 in/Ibs
(7 N-m)

Torque:
100 in/lbs
(13N-m)

Torque:
70in/Ibs
(7 N-m)

\\\®‘I
OVl I

Torque:
~ | 50in/lbs
(5N-m)

MUFFLER OPTION

OVERLAY OPTION

B LR



Composite Repair Parts List

Item |Part Number |Description Qty
1 |N031-166-000 Air Valve Assembly 1
2 |NO50-027-354 Ball, Check, Santoprene. 4
9 NN171-062-115 Capscrew, Flanged 5/16-18 X 1.00 12

10 N171-063-115 Capscrew, Flanged 5/16-18 X 1.25

11 N171-064-115 Capscrew, Flanged 5/16-18 X 1. 50

12 N171-066-115 Capscrew, Flanged 1/4-20 X 1.25 8
13 N171-075-115 Capscrew, Flanged 5/16-18 X .88 8
14 N196-178-552 Chamber, Outer, Poly 2
15 N286-095-354 Diaphragm, Santoprene 2
16 [N286-096-600 Diaphragm, Overlay, PTFE 2
17 |N312-106-552 Elbow, Suction, Poly 2
18 |[N312-112-552 Elbow, Discharge, Poly 2
19 |N360-100-360 Gasket, Air Inlet 1
20 [N360-101-360 Gasket, Pilot Valve 1
21 |N360-102-360 Gasket, Air Valve 1
22 |N518-138-552 Manifold, NPT, Poly 2
23 |N530-035-000 Muffler 1
24 |N544-005-115 Nut, Flanged 5/16-18 36
25 |N560-001-360 O-Ring 2
26 |N612-091-552 Plate, Outer Diaphragm, Poly. 2
27 |N612-177-330 Plate, Inner Diaphragm 2
28 |N620-019-115 Plunger, Actuator 2
29 |N675-042-115 Ring, Retaining 2
30 IN685-056-120 Rod, Diaphragm 1
31 N720-012-360 Seal, Diaphragm Rod 2
32 N720-045-600 Seal, Manifold 4
33 N722-099-600 Seat, Check Valve, PTFE 4







	MODEL:   N05    Non- Metallic
	N05 Non-Metallic Center Ported Options



